Vocab A solutionset s the set of
I all solutions of an inequality.

Example

The solution set for the example

is 3 andA4.




Complete numbers 4-6 in your composition book;

Tell whether the given value is a

- solution of the inequality.
4)

e = % Yes,s is a solution.
9>7

5)

Ty < 27 ; "’”y=4

4y <27 —— No, 4 is not a solution
28 < 27 " - '

6)

3 : , » Yes, 15 is a solution.

15 =
325

525




;;Complete numbers 5 - 7 on your notes page.
Tell whether 3 is a solution of the
inequality.

5) b+4
: 3+4
7

No, 3 is not a solutlon. .

6)

Yes, 3 is a solution.
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i Yes, 3 is a solution.
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10
10




graph of
an
inequality

All of the solutions of an mequallty ar

shown on a number line. ,
Use _ an open circle when the

number is NOT part of the solutlon.

Use a clgsed circle when the
number IS part of the solution.

The arrow to the right or Ieft'shoWs
that the graph continues in that
direction. ' '




Cpmplete numbers 4-6 in your composition book

4) Graphg>2 —_—
1012345

5) Graph 7 < : =

6) Graph83>p>-3

>

3241012345678




Complete numbers 8 - 10 on your notes page.

8) Grapha<4 epemmQ |,
1 1234567

E‘;9) Graph6>n>0

10) Graphf<-8 P
S——




